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Breakpoint Example 1: Pe Model

e PE Model 8) Queue_End — OnEntry
o ENRED, FRRBITHAETOR, EF I —EKXHLE, BIA Breakpoint,

e 1% Breakpoint

ERNENTILSTHER TR
527£ 6917, ILAEF Global Table Each_Patient_Wait_Time

89 Column 3 528k % Global Table All_Patient_W

= /Queue_End - Ontntry v~ =[8 7 Globel Table - Each Patient Watt_Time T | # Globel Table - Al patient W
3 NextLine SF StepInto b Contirue @ Stop — = —— =——
o || tome: Each patent watTme ~ @ () Rows: 00 Comms: 400 [71cq | | | Name: Alpatent -@
Cocl Voroies cal stack | atch Varabes | Tree
—_— fetme [ishttme [mytoe S| Restcatons[femicatonz |
em TQueue EndfBox = Rowi 2% . 1046 ) Patientl 10463 0.0
B e et ) | e ns oo om || || [ wi| ow
port 1 Row 3 2451 119.23 94.77 0.00 Patient3. 9477 0.00
0 » o 553 24 .16 oo |} || [rews w616 ac0
arrive svstem tme. 129.118872 - Row 5 422 133.64 9.4 0.00 Row 5 9942 0.00
® 1 ~ Row & 3473 141 106,92 om || [Rows 106.82 0.00
49 double p_num_wai Row 7. 37.46 150.24 112.80 0.00 Row 7. 112.80 0.00
s rows on 1554 1467 00 rons 11467 ac0
51 s Row 9 47.81 160, 112,55 0.00 Row 9 12,55 0.00
52 i Row 10 52.68 167. 11491 0.00 Row 10 11441 0.00
S double query_tine sum- T o ] assi T Row 11 a1 000
S eri e e el sl 540 s o i T o0 Rov 12 11436 ac0
Row 13 93.65 188.61 94,97 0.00 Row 13 9497 0.00
s6 ery_tine_sun = query_cime_sun + gevcablenua(Soctor_QueryTine
2 query_tize ; query_time ; v ¢ query Row 13 10462 198. 93.94 000 Row 14 9394 0.00
s2 ce_Measures®, 3, 1, query_tine_sum); Row 15 367 260 12450 0.00 Ao 15 12| 0.0
ss ™ Row 35 w0314 2113 w817 ) Row 16 w0817 ac0
L] il ] Row 17 104.95 220,51 115,56 0.00 Row 17 115.56 0.00
61 double query_start_time = gettablenum("Query Start_Time", Row 18 105.62 226.0¢ 120.43 0.00 Row 18 120.43 0.00
62 double utilization = (query_time_sum)/(time ()- query_starc_time); m Row 15 120,82 25.1 11436 0.00 Row 19 11436 0.00
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Breakpoint Example 2: PE Model

o 1% Breakpoint 527t 2317, BN TEILLITIF 1= T 2K, #65R (Next page)

#% /Queue_End - OnEntry. - Tl = ]

(= Nextline SZSimplnin b Controe @ Stop I
Local Variables | Gall Stack | Watch Variables | Tree |

——————————————

item Toueue_End/Box

currant JQueus_End

port 1

n 1

armive svstem time 0.392386 >

2 treenode item = parnode(l); =
3 treenode current = cwnerobject(c); 0
4int port = parval(2):

7int n = getinput(current); //ith patient
8 double arrive _system time = getlebelnum(item, "arrive system");

9 double leave system time = getlabelnum{item, "leave systen’): L4
10 double wait_ime_in_systen - leave_syaten time-arrive_system time; |
11 double arrive_doc_time = getlabelmum(item, "arrive doc_query"):

12 double leave_doc_time = getlabelnum(item, "leave_doc_muery”):
13 double wait_tire_in_guery = leave_doc_time- arrive_doc_time:

m
——

en, . Wait_Time Table
16 settablenum ("Each_Patient_Weit_Time",n,1,arrive_system time):
17 settablenum ("Each_Patient_Weit_Time",n,2,leave_system time): |
18 settablenum ("Each_Patient_Weit_Time",n,3,vait_time_in_system):

19 if (wait_time_in_systems1s0)

20

21 sectzblenum("Each Patient Wait_Time",n,d,1):

] yTime Table
P 24 sertablenum("Doctor_QueryTime",n,1,arrive_doc_time): ~ i
El —— 5
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Breakpoint: Local Variables

e % Breakpoint 27E 2317, BN EHTRILLITHRZ = T, AT B
e Local Variables A& E| Queue_End — OnEntry 2N PRIFTHE 2

,
i’: /Queue_End - OnEntry |M|
[,= NextLine 5EstepInto p Continue ([ Stop |
Local Variables | call Stack | Watch Variables | Tree |
I —
item fQueue_End/Box !
current JfQueue_End |
port 1
n 5 i
arrive_system_time 0.392486
leave_system_time 106,451339
wait_time_in_system 106,088903
arrive_doc_time 100.000000
leave_doc_time 106,431339
wait_time_in_query 6.431389 !
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reakpoint: Watch Variables

o % Breakpoint 27E 2317, BN EHITRILLITHRFZ = TR
e Watch Variables I BT AEZEEHB) node. Global Variable. Global
Table Value, 24120

#~ /Queue End - OnEntry
a

[Z Nextline 5 StepInto b Contrue @ Stop l

Local Variables | Cal Stack [ Watch Variables [ree

getiablenum{‘Each_Patint_Wai

e, n,4)

il i 3

2 treenode item = parnode (1)7 =
3 treenode current = ownercbject(c):
4 int port = parval(2):

s
6 =

€ double arrive system time - getlabelnum(item, "arrive system');

9 double leave system time = getlzbelnum (item, "leave_system”)

11 double arrive doc time - getlabelnun{item, "arzive_doc_guery”);
12 double leave doc_time = getlzbelnum(item, "lesve doc_guery”): |
13 double wait_time in query = leave_doc_time- arrive doc_time:

ient Wait Time Table
16 settablenun("Each_Patient Weit_Time",n,1,arrive_system time):
17 settablenun("Each_Patient Wait_Time",n,2,leave_system time); I
18 settablenum("Each_Patient Wait Time",n,3,wait_time in aystem):

19 if (wait_time_in_system>150)

20(

21 setcablenum("Each Patient Wait Time®,n,d4,1):

22} |
@ 23// set :_QueryTime Tab: f
] 24 settablenum("Doctor QueryTime”,n,1,arrive doc_time): ~ |l
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Breakpoint

Next Line: 3ZX1THITIZTN,

[ J

e Step Into: FAZRBBE—ZEE

o Continue: #&1BH1TEN, BEI T —Ri&EZ] Breakpoint T E{Z 1t

e Stop: FEZL B2 Stop

7~ /Queue_End - OnEntry @Iﬁl!

[, Nextline "= StepInto p Continue (@ Stop

Local Variables | Call Stack | Watch Variables | Tree
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